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1. Find the net area bounded by the graph of f(x)=x" - x" and the x-axis on the interval [0,2].

= S =  X-x"-0

2. Find the area bounded by the graph of f(x) =x" - x" and the x-axis on the interval [0,2].
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6. R is the region bounded by the given graphs and the given axis. Sketch each graph then find the
arca of B, the volume when B is revolved ab&it the x—aﬂs and the volume when B is revolved

about the y-axis. —_—
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8. Given F(x) and the interval [a, b), graph F(x) over the interval, find the average value of F(x) on
that interval and find the value of ¢ that verifies the conclusion of the mean value theorem for
integrals for the function I over the interval [a, b).
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11. Determine if the following sequences converge or diverge. [f they converge, give the limit.
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12, Determine if the following series (A) converge absolutely, (B) converge mndmun.-ally ot (C)
diverge.
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13 Finclllﬂie sum of the following convergent series:
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14. Give the derivative of each power series below:
E (n’ +1]|.:|:
= ¥n’ +3n

. n+1]..1:
By

15. For each of the problems in number 14, give the antiderivative F of the power serics so that
F(0)=0.
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16, Evaluate each improper inte °I l
a. I[:x—]]"i"ldx = f]'ﬂ (ff_t‘f'fs d’(
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18. Find the smallest value of n so thal the nth degree Taylor Polynomal for f(x)=1In(1+ x) centered

at x = 0 approximates In(2)with’an en]nr of no more than 0,001 (also be able to do this with some

of the other Taylor Polynomials) ve= |
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20. Determine the convergence or divergence for each series with the given general term:

Series Converge or Diverge? Test used
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13. Find the g_:n-:ral solution for each:

&y =({y+3)x+2)

0 E
b, ¥ = £
¥
e fossy iy =
068 = \x*dy
d. £=x Sﬂ{:{y}{ % .
e. ¥ =e(14+¥) ‘;(LF\‘-& :.ﬁs_ ) C

14, Find the specific solution given the initial condition: % =y=2 y0)=6

0. dlﬁz (%ars\(kﬁ\dw
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2
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3. Find the area of the region bounded by the line x =4 and the graph of f(x)=x". «& y-w ;J

4. Revolve the region in problem 3 about the x-axis, and give the integral resulting from using the
method of washers to find its volume. Do not compute the integral!

5. Revolve the region in problem 3 about the y-axis, and give the integral resulting from using the
method of cylindrical shells to find its volume. Do not compute the integral!
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7. Given F(x) for each problem, graph the function and shade the area between F(x) and the x-axis,
find the x-coordinate of the centroid of the shaded region and find the y-coordinate of the centroic
of the shaded region.

a. F(x)=x"-x

A- J - (x>x) ) dx

-%3 Z |
) X X -, L )
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9. Give an equation relating x and y for the curve given parametrically by
a. x(t)=-1+3tanz y(t)=1+2sect

b. x(f)=2¢' y(t)=1-3¢™ e" t __(e't )- <

k. ¥t =sect
%
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17. Find the formula for the areg of r = 1+2sinf @

o ¢ :
a. Insidc inncr loop j_l - J?:z 1+2:mt‘f'dﬁ
b. Inside outer loop but outside inner loop
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